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, 1 XLL definition i; used along with XML to specify :
(A) The data types of the contents of XML document
(B)  The structure of XML document

C) The presentation of XML document
The links with other documents
< dcﬁrﬁﬁunaﬁﬁﬁgﬁmﬁ%ﬁrQXML%?mﬂﬂﬁlﬂﬁﬁTm%:
(A) XML stagitz % we o dzremy
(© XML stz 71 weslw
(D) /Y =fegize & W foiw

2 Which of the following is not a search engine ?
(A) Yahoo (B) Bingo (C) Google Mnduws
| v e o i 7 _
() @) feh (©) T D) fi

3 Search engine which takes input from a user and simultaneously send out queries {085
third party search engines for results, is : o

. (A) Advance Search Engine Meta Search Engine
t (C) Search tool (D) Boolean Search Engine
Y $9 o $IgE AT FAMC B9 @ dmd o @ i % g @l aft @ g, 3"\_-
. (A) eI @ e (B) #=r & g
(C) =& 7w (D) g & o= i
4  The search results are generally presented in a line of results often referred as :
(A) Tag List Search Engine Result Pages
(C) Secarch Engine Pages (D) Category List
w4 i s aftm @ ¥ Taie e 8, e @ed €
(A) = fo= (B) ¥d fwm fiowe o=
(C) wud & T (D) &erh fae
5  Which of the following is not a recovery technique ?
(A) Deferred update (B) Immediate update
Two-phase commit (D) Recovery management
i & & s Rl TEAE TE & 7
(A) tq;i IS (B) shfmuz ez
(C) 7-%9 (D) Pl ez
- e j‘ ;
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6 A sta
tement that ; :
modificat @ Is exccuted automatically by the system as a side effect of @
(A 10n to the database is known as :
) Assertion .
© Re . @ Triggers
ferential constraints (D) Insertion
98 ;
%ﬂmﬁmmmammaﬁammmt.m% :
© Twifyrm T (D) zas
7 Ani
AM1 Integral part of database that can restore database to previous state before failure
15 called -
@ Recovery Scheme (B) Backup Scheme

(C) Restoring Scheme (D) Transaction Scheme

Folt Srerdw & sl s o R e 3 vk 4 ey & Feedre e &, e B

(A) faad = " (B) e @m
(C) Trifer = ! (D) TRsmA e
?ﬂ"*' Drawing, photographs, movies and simulation comes under the category of :
(A) Animation (B Image Graphics (D) Text
Eﬁm@ﬂaﬂtﬁqﬂﬁ wl g % ofee o ¥
(A) TR ®) o © witewa D) T
9 Vector and are the two types of computer graphics.
- (A) Scalar (B) Sector (C) Rector Raster
Jgroaiit 0 T UmN & wget mieew ¥
(A) @t (afEn) (B) T (C) &= D) TET

)EII The ratio of vertical points to horizontal points and vice-versa is called
(A) Bitmap matio Aspect ratio

(C) Pointer ratio (D) Resolution ratio ~
s Riget & At Rigall % srqm ofie g Pt Y e o &
(A) Tt ST (B) ST S
(€ T I (D) Hebw S
i 3 [PTo,
36 ] 0 o 7o
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-

is a technology that allows brick and mortar retail stores to send messages

11
directly to the smart plmnr:s of their customers by. g
(A) Beacons (B) Bitcoin }
Business CRM I (D) Big Data T
uF U @ W $2 oi TRt @A RIT (brick and mortar retail stores) Ol Imsuﬁ%
= B T A T S @ gt ¥ T
(A) o (B) fareamig
(© faorw Mmoo, (D) fom =
12 The facility allows customers to purchase the items they want online, and
pick them up from their physical store, merging the convenience of e-commerce with the
benefits of physical retail outlets.
(A) Click and Send ' (B) Click and Purchase
(C) Click and Reserve Click'and Collect
el gferen STt gudErRS B, 9w o @ i e § I AT @i 7 37 TG
# Wi @R (gEE) A 7 9 @ o W ¥, e A d-w @ gl 7 site gea
TEEl & W B O wh a8 ¥
(A) Tow U= ds (B) s uos e
r © famw qoe Frord (D) Frem qve e
IFE! Use of internet to connect a wide variety of devices, frachities and sensors for empowering
brick and mortar stores by giving them the same access to data that online stores have is a
facility falls under which of the following technologies ?
(A) . Artificial Intelligence (B) Deep Learning
(C) Machine Learning Internet of Thing
faftrr Wt & feargde, wall offit Hat @i s=e 20 wWest fiw 7= e (§2 ud v
@ﬁﬁaﬁmﬁmdﬁﬁmtﬂmmﬁgﬁmmmﬁ
e o ® |
(A) eriffiam e B) ¥
(C) wefm @ (D) T o fim
14  Which of the following is not a Java Code editor ?
. ((A)) Ms Word (B) Netbeans (C) Edit+ (D) Notepad
Remffes & & @ A A ufter T ¥
(A) TUE TE (B) (C) ufer (Edity) (D) HRde
) 4 4 [PTO.
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15  Which is not a feature of g GUI tha

t makes learning a program easy for users ?
@ WYSIWYG formatting (B) Dialog boxes

ﬁ-.'i3ht*.ﬂ%l.2llne.uzi key strokes and commands (D) Icons
i ﬁlGUEﬁfﬁﬁwaﬂtﬁﬁmﬂaﬁ%ﬁ%qwmmm

(A) WYSIWYG g (B) =R &ty
(€) ﬁﬁﬁﬁ(keﬂﬁﬁi@ﬁtm (D) &EHT

L Tﬂch Property in Visual Basic determines whether a control is displayed to the user ?
(A) sl (B) Display
Visible (D) Enabled
%mﬂ:ﬁﬂ'ﬁ'ﬂiﬂ’ﬂﬁ?ﬁﬁmﬁm Freffea st & 75 sudrmatel #t s wafim fear s
(A) 9 (show) _ (B) fe&wt (display)
(C) Tafaamr (visible) (D) TAgw@E (enabled)
17 __ audio/video refers to on-demand requests for compressed audio/video files.
@ ‘itrcammg stored (B) Streaming Live
(C) Interactive (D) Mixing
= st/ s sifsaydiftd wiet ¥ firg sfq—fomis orast @ wefi
| :
(A) Hiftm =2re (B) ¥ am
(C) Zetiwe (D) fufer
18 A buffer is required for real-time traffic. ;
(A) reordering @ playback
(C) sorting broadcasting
ArEfa® ®AG (real-time) T % fig TEL AE59S ¥
(A) greEen (GeEi) (B) s
C) Bf (aiEn) iy (D) WA (sfemien)
19 A han i e e C
A mﬂ. ges the format of a high-bandwidth video signal to a lower quality narrow-
(A) Sequence number (B) Timestamp
Translator (D) Segment g
% T= Yshumy dfq frw & wen @
e im 4 T TUTEET AT mﬁuf Hefrzy
(A) & m (B) TETEw
© mﬁﬂ (D) Fiz
36 ] ’ ,,;,: 5 : [BTq

R (]
i
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| 20 Text's encryption is its ;
L (A) Compression
|

(B) [Expansion
Scrambling {o preserve its security

Hashing

Y TR TR H i1
(A) FHIH
(B) TAUSH :
(C) wH=RM W Tee geam am W W a
(D) i

21 One commonly used public-key cryptography method is the . algorithm. |
(A) RSS (B) RAS (©) RrsA (D) RAA
TH T W - el feRrm faf w1 v TEIEH ¥ |
(A) HUR.Ug, (B) @m.uuw. (C) TLUA.T. (D) @IRTT.

22 Which is not the characteristic of good algorithm ?
(A) Finite (B) Unambiguous (C) Well defined . (D)) Unordered
B aTas UEiiEg # fadem wd & 7
(A) TEATEE (B) #FufEsE  (C) A Fewg= (D) @Fsies

23  Which of the following is a tool to diagrammatically depict the logic of a computer program ?::
(A) Pseudocode (B) Algorithm Flowchart (D) Source Code
Preafafgs § | SFE 999 U6 $9G2T G0M F a6 B @i % aeaw 4 fafa s ?
(A) qEHE (B) TwEH (€ R (D) HE =

24  Which structure allows the program to make a choice between two alternate paﬂus depending
upon the condition ?
(A) Sequence Selection (C) Iteration (D) Logic ‘
frafy % orEr A dafeam Al ¥ F Rl om Riden B g % T Reww s R
e ¥ 7 _
(A) argeH (B)  fawras (C) Tt (D) it

25 NAT stands for . 1 ‘
(A)) Network Address Translation (B) Network Address Transformation
(C) Network Access Translation (D) Network Access Transfnrmatiun
NAT & d ¥ :
(A) 2ah T IR (B) mﬁ@ﬂmﬁﬁﬂﬂ
(C) Fzah TIWE FRRAIT D) ek T T |

_ 3 6 [PTO. §
& e . |
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26

27

28

29

30

51 4 ;

What is the use of firewall 7
(A) Filters the packets that come from internet
Filters the packets that come from internet to intranet
(C) Filters the packets transmifted to internet
(D) Ensure the packets faster traffic for fast e-commerce
FIATE & FT sy ¥ 7
(A) TR o W SeE B Rewet BOT
(B) TR ¥ e 9T 9 AW YheE i femeT FTm
©) TEOE O WA T Wgw B et B
(D) = $-wd & forg 4%em &1 T g ghtfea o

A network security system that protects network resources by filtering messages at the
application layer is,

(A) Packet Filter Firewall Proxy Firewall

(C) Stateful inspection Firewall (D) Next-Gen Firewall

& Fead Riediidl fveew =it 6 Jzadk dam @ gean giadbee s 9% Agor @1 Rheefon
% WU BT § T8 L, |

(A) e Teeet wmEw (B) Wie wrTaie
©) Repw TRHE HETE D) o HrETE
In object oriented programming, an object is an instance of :
Class (B) State (C) Behaviour (D) Message
e =S AT § % sifswe . W % THew (ger) § |
(A) T B) w2 © Mt @) W
Class members of a class in C++ program are by default
(A) Public ®) Protected  ((C)) Privare (D) Global
C++ wiom ¥ fptl oo (class) % Fog Had qEiwie (ewtre =9 &) 8% ¥ -
(A) ufes (B) wiewes (C) W (D) o

An ubjem-unenled programming concept that refers
object to take on multiple forms is :

(A) Inheritance (B) Hierarchy

sfisie ST=e v 2 o sremon W B
T H A Vo weE ¥

(4) ¥wReN (B) e (C) il (D) B e

to the ability of a variable, function, of

Pnl}rmorphis_m (D) State Transition
, WA AT SieaE B FE WY Qreey

[PTq
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int arr [2][5]; FEwrtem TrRza et & ¥ |
20 | (B) 10 (C) 40 (D) 2
(A) & (C) Both is Right

32 Which is not a data type of C ?
DA A TET CH A E ?

(A) float (B) int (C) char class

33 The following two C language statements are equivalent to, n = *&q. These statements are
Eﬁ‘ﬁmﬂfﬁﬁf@rﬁﬁﬂéﬁfzn=*&q#mﬂ%!?ﬁﬁzﬁ2§ 1
p = &q;
n="*p;
which are further equivalent to,
@t 5 & TIHH ¥ |

(A) n=p B) p=q (C) n=p*qg n='q

34 error arises due to incorrect use of syntax.

E 31 The declaration int arr [2][5]; will allocate bytes.
!

@ Compile time error : (B) Linking error .
{ Run time error (D) Input error
: T e feew & v F andr &
(A) @HREE TEA R B) fifem Tx
(C) ™ =z o D) 99z T
35 COBOL and Pascal are examplesof _______ programming languages.
(A) Object oriented (B) Seripting -
Structured (D) Object based
COBOL g Pascal __ wrnfém &wdm & g ¥ )
(A) oiEEz sifttes (B) feafien
(©) w (D) oifesae o7

36 In conversion of HLL to machine language the synthx analysis part is called as

Parsing (B) Lexical analysis

(C) Semantic analysis (D) Linking

HLL % w9 W7 &9t (Feeet) & fitem oot (o e Bgsoo) wm o
el W ¥ | 4

(A) i (B) wisa Tafwfta

(C) fuifes wfafes (D) fifdm %

. me a L e
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37 . Majar-e-Fakhri is situated in whic

h of the following districts ?
(A) Iaipm- g districts

B) Bi
(C) Dungarpur V), Dk

(D) Sawai Madhopur X G
WAC-T-FE ) B Ry R X R ¥ 7 é;’\
(A) sEgT (B) d@m l"'//\/g’}
©) e ©) i Tehge

38 Which of following launch of ISRO was rescheduled recently ?

Fe o & 60 & AN o o v iR (e R 2
(A) GSAT-n (B) GSAT-6 (C) GSAT-10 (D) GSAT-12

39 What is rank of Rajasthan in India according to World Bank's “Ease of doing business™

index ?

(A) 2nd gth (C) 4 (D) 10t
faga ¥ @ “§01 o ggu fanrie’ $¥a & oTER ww H T B @ FE 7
(A) &l ' (B) wmed (C) i (D) =

40 In which of following year (PIC) Patent Information Centre was established in Rajasthan ?
fret & & Ppg o ¥ T § 4= gE = (PIC) # W H1 K 7
1998 (B) 1999, () 2000 (D) 2002

41 What is the name of one stop solution for gtartup; and venture capitalists launched by
Rajasthan Government 7

mmmmmﬁﬁqmmmmmmmt,@hmma%mﬁqﬁg

% fe ¥ 7 '
Siait (B) businessstart
(C) moneystart (D) Rajasthansupport -

42 During the year 2017, for promotion of IT activitics and startups Digifest were ised at
which of following cities ?

Kota and Udmpur . I:B} Kota and Jaipul‘
(C) Kota and Ajmer Y (D) Kota and Icuaililtpur?“}_l I
Hﬁiﬂl?%ﬂfﬁﬁqﬁﬁﬁqﬁaﬁmﬁmﬁﬁﬁﬂﬁﬁg ST

frr i o o mar 7
(A) @RI T T ) SR *
(C) @t T T @) Fer T A |

6] 4 ? :
: BTN
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{
H 43  What is the name of Rajasthan governments HI!&'_H SET:"i“_E which allows the users to
their e-mail address in regional languages including hindi ?

TR T B $-iw qan &1 70 79 &, S 6 T B T {0 vdw g v
A 7 ot & T ) gl 4§ 7

(A) HindiBhashaMail _ (@) RajMail ,
(C) MeriBhashaMail (D) RjMail

44 Mhdng following government application is the source of information about Indian Missjag
ad ? i

R % & @ ety oo e % Pri & ww < e @ qem w1 A g 9
(A) GARV App (B) NarendraModi App :
@ MEAIndia (D) Incrediblelndia
National Rural Livelihood Mission (NRLM) was launched in which of following year ?
Tﬁmmﬁ\waﬁfﬁmﬁmmmnﬁmgﬁﬁmw?

(A) 2014 (B) 2015 (C) 2013 (D) 2016
2011 is Right

46  In which of following city headquarter of microsoft is situated ?

45

i Washington  (B) Florida (€) New York (D) Toronto
! %ﬁﬁﬁvmﬂ-mﬁwﬁﬁ%?
| (A) =iyt B) weifwr (C) =aids D) =
47  In which Printer Ribbon is used ?
(A) Plotter (B) Laser Printer
@ Dot Matrix Printer (D) Inkjet Printer
=t & & Rew wae & Rzt F BifEy e am & ey & 2
(A) wiet (B) it firmex
©) st A firet (D) @ By
48 What is the VVPAT ?
(A) "ther Verified Paper Audit Trail (B) Voting Verified Poll Auditing Trail
(C) Voter Verifiable Paper Audit Trail (D) None of these
VVPAT#FT & 7
() et ftRE 9T e W (B) difen fteige o aifefen 3w
(C) dret afteEuEs Ut offfee 3w (D) T § &

%) 4@ 10 [PT.O.
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49 What js * i’ wi
. at 1s “Laxmi’ with Teference to Reserve Bank of India 7
Crypto currency (B) Softw
(C) Locker facility roiey

foret &% st e & wed i wer (D) New type of Savings Account -

# (B) wiwagT
(D) =47 79d .
50 Divyang Sarathi' i
MDbiI'E App

By Mol
(C) Internet portal (B) obile Ambulance

ol o | (D) Rehabilitation centre
(A) e oy (B) wHrmse TR
C) T=ew Wéw (D) gate =
S1. Which satellite has been launched by ISRO using PSLVC-39 from Sriharikota ?
ISRO @ PSLVC-39 % w2z & 4 sP@ & S ouos vy mar 7
(A) IRNSS -1G ' .
IRNSS — 1H
(C) IRNSS - 11 IRNSS — 1]
52

The Social ideals of Mahatma Gandhi were first put forth in

Hind Swarsj

(B) The Story of My Experiments with Truth - An Autobiography
(C) History of the Satyagraha in South Africa

(D) The Bhagvad Gita According to Gandhi

TS MY & A anest wdwem e v fhe o g 2
(A) fe= =T .

(B) = R o = qeraicize Rg 30 - o ifdamimmg

(C) feehr offs = FammE & WY S

(D) = g e orTeén 7 iy

e
-
53 Ajanta Caves are connected with which of the following ?
(A) Ramayana (B) Mahabharata
Jataka Stories (D) Panchtantra Stories
ST @ YN i ¥ § feed gatem b 7
(A) THET (B) wemva.
(C) ras HuTd (D) e HETeEt
6] 4 1 [PTo
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(A) Virat Kohli (B) Hashim Amla (C) David Wamer (D) Steye S
g & & fafead & §9@ I 8000 ODI T TF &1 a7 ey dey 2 |

froe ®E (B) efdm s (©) e Tt (D) .

55 Which of the following books is not written by Munshi Premchand ?

(A) Gaban (B) Godan @ The Guide (D) Mansarovs ;
Frafefad & & 59 Tom % Tafn qoh dwee @ ¢ 7 :
(A) T (B) Tem (C) T s (D) wrTERET

56  National income ignores :
(A) Sales of a Firm (B) Salary of employees
(C) Exports of the IT sector Sale of land
T o 3§ fewt whnf T8 fea s & 7 '
4) T o @ R (B) @ w1 i
(C) o Wit ¥ % fafa (D) sfr &1 fa

37  Which metro has become the world's first ever metro system to get green certification "
(A) Jaipur Metro  (B) Delhi Metro .  (C) Chennai Metro (D) Mumbai Metro
W BiEhAhe W B 9wl fayg & v 92 gomeh & -

@ v (@) R © R ) g

58 Booting instructions are stored inside :

(A) Floppy disk ROM

(C) RAM : (D) Operating system
afe et wufea o9 ¥ '
(A) v fwm (B) T

© = (D) aifqtfen faen

59  The software program which is compiled It‘lga]ly and is usually used free is referred as
(A)) Shareware (B) Firmware (C) Mindware (D) Public Domain
wrezage s Frl ST A 9T wwhi fe o gem & oft s at Frges s i
A ¥ed 00000 wmEI T Y | :
(A) EET (B) wEER (C) W=t (D) s S

3 aﬁ }‘m’ 12 [PTO.
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60  Data Processing cycle consists of :

(A) Input and output cycle ' Input, output and processing cycle

(C) Output and processing cycle (D) Output cyele only
T Wi o e e k2
(A) TTYE T NI um (B) Yz, &TS2Ye T WAk O%
(C) gz T WEfhm s (D) &= APz uH
61 _ isan inference drawn from the processed data and information.

(A) Information set (B) Knowledge (C) Raw data Statistical data
WIS ¥ F TR | A Frend P ¥ o ¥

(A) TOERAE ¥ B) w © (D) Bfefeww ¥
62 A transaction file stores :
(A) Data that rarely chauge§ (B) Data that never changes
Data that frequently changes (D) Data that is erroneous
TH ZAEH KA R FTE §
(A) sTE1 @ sTEE # ) FEea (B) =TeT W W e SEw

(C) =rT = T w&Ea ¢ (D) wrer fred T B

63 MS-Access database is saved as
MU TERE R S e AT F e T e € 7

extension,

(A) .msa (B) -ﬂhm @ mdb (D) .mss
64 PDF is an acronym for : _

(A) Printable document format Portable document format

(C) Printable data format (D) Portable.data format °

PDF w1 WgET ¥ |

(A) fftaw siwpie Bl (B) Wi stagie B

(C) FiRww =T T (D) ¥Em = wHE

65 Layer | of the Open Systéms Interconnection (OSI) model is,
Physical Layer (B) Link Layer (C) Transport Layer (D) Network Layer
st fress e (o Tw o) Hisw @ uee qaT &,
(A) fofmm & B) fis W= ©) i Faw (D) T W

161 ’ 13 [P.T.{]_

e T ORI
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66

67

69

70

Visit =

- (A) Nétwork Hub (B) Internet Consortium
@ Internet Service Provider (D) Telecom Consortium
e S TETIE WA B WG T TEAE FC B g 7 5 mﬁwwmﬁﬁsm
ﬁ.& ﬁmﬁ g  wEEmi g .
(A) Iz 'E'ﬂ (B) F=Tie ‘#ﬁ*ﬁhﬁ'ﬂﬂ

Which of the following was the first commercial web browser ?
(A) Mosaic (B) Mozilla ((©) Netscape (D) Intemet Expjgy
Frififa % & @ @ vea aEEToE a9 AwA ¥ |
(A) Hris (B) wifen (C) e (D) =TT TRt
Size of IPV6 address is .
(A) 264 bits 128 bits (C) 64 bits (D) 32 bits’
IPV6 T3 @7 w2 & - -
(A) 264 fagm (B) 128 frzw (C) 64 fagm (D) 32 fazm
Which protocol is used between e-mail servers ?
(A) FTP (B) MTMP
(C) HTTP ' @ SMTP
9 W % U W G e § o ¥ 7
(A) THEAA (FTP) (B) wH I TH U (MTMP)
(C) madAAN (HTTP) (D) wETHE Y (SMTP)
The s.hows all the web sites and pages that we have visited earlier.
History (B) Tuskbar
(C) Status bar (D) Browser list
. ww @ H ¥ v dwEe wd d9 At @ aai
(A) fe= (History) (B) ZTRaTT (Taskbar)
() éﬂl’ 4T (Status bar) (D) #@wY fe (Browser list)

An urg‘n?ﬁizaﬁﬂﬂ that provides services for accessing, using, or participating in the Internet
iS Cﬂ.uﬂd lt]:EE:I

14 [PTO.
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‘Ethernet’ i |
. mL?:: | aother name of
al Netwa: T
C) Wid ork (LAN) i
(C) 1de Area Negy, (B) Metropolitan Area Network (MAN)
; ok (WAN) :
TR T I T h o (D) Piconet Area Network (PAN)
(&) TSN T e 1 o
(©) TS ey & N (B) i g dead (MAN)
(WAN)
(D) Tz o J=ad (PAN)
ik L.
MR iy | n%:?ﬁf: Mbps (© 10 kbps (D)) 10 Mbps
(A) 64 By
| j ®) é4wmliiee () 10%dmm D) 10 TR
73 The styl LT
3 aﬂ}; esheet file will not pe loaded by the browser if you omit )
REL_ T Bl 3 ¥ @ wrfweie o e g we @ A e |
(B) STYLE (C) BODY (D) HTML
" Wh‘kh of the f““““'inﬁrllfl'a__:mntainer tag ?
T § @ o ¥ g
(A) <SELECT> (B) <VALUE> (C) <INPUT> <BODY>
(D) & (A) Both 'are Right
75 Which atribute in Anchor Tag <A> is used to show the hyperlink 7
thﬁmﬁmﬁﬁaﬁ%hﬂwqﬁwmﬁﬁmm% ?
. HREF (B) SRC (€) LINK (D) HYPERLINK
7% A __is a small program embedded inside a GIF (Graphics Interchange Format)
image. g
@ Web bug (B) Cookie
Spyware application (D) Spam
s o o, . (M T W) P K it oY dom a we § -
(A) A3 H:f'f - ® @
(C) WEEET ©) * i
77 from internet to computer is known as ;
ing . (B) Uploading (C) Storing (D) Weblinking
A @l HPGET TT WY HET HEATH & |
(B) e ©) B (D) fifeEm
6] 4 i 2 i TR0

Visit : www.SmartTypingSolu
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78 A Uniform Resource Locator (URL) is a reference to &,

A) Computer Resource '

W:I? Resource that specifies its location on a computer network and a mechg
retrieving it :

(C) Printer on the network

(D) Storage server on the network

IFrert Friid witrer Frafifiaa & & Frear gl &7

(A) ® T frand & .

B) ¥ R & S e Fqey Yook W WM 9 96 9 G & g o
(specify) wxar & -

© ek T B @

(D) #ead vt W= et =

79 %ﬂh phase comes after execution in electronic market trade cycle ?
(A) Pre-sale (B) Afier-sale Settlement (D) Negotiate

WRIE Moz 75 wrwa § oo % 4”@ W e ¥ 7
(A) M Ew (B) omwet dW (C) #zomic (D) =iz

80  Which is not an example of G2C services ? !
(A) e-visa (B) e-transportation

(C) Digital police portal @ e-bay.com
A | G2C Ferei &1 S 7 & 7
| (A) $-Fmm ' (B) d-ziwdierm
() fefiem gfem diém D) I-Fam
I 5 5 _."
| 81 EFT stands for _
A) Easy For Taxes (B) Easy Fund Transfer
@ 'Electronic Fund Transfer (D)  Electronic Financial Transaction
e U L —
(A) | & W TR B) & % FEw :
(C) FwTE B ZaHt (D) ST wEIfas Zomm
_ §2 A malicious program that does not replicate automatically is,
f Trojan horse  (B) Worm (C) Zombie (D) Virus
oE ZatEe YA § AT T GO WS o § gaf 8w
(A) A T B) =i (©) = (D) atE|
) @ 16 [PTO..

L.
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g3 Two statements gre fi
statements to be Dlll:wed by two conclusions I and II. You have to take the two given
given conclusions lﬂgm;'fg?ﬂ;;ng the commonly known facts and then decide which of the
Statement : ¥ Tollows from the two given statements 7

(i)  All pens are Pencils

(i) All books are pencils
Conclusions :

I All pens are books

II: Some books are pens

(A) - Dnly conclusion | follows
(B) Onl]f conclusion I follows

(C) Bmh cnn:luamm. I and I follow
NEIﬂ'I.EI’ conclusion T nor [T follows

ﬁw%mﬁﬁmﬂa&tﬂf&%ﬂ&% | 19 W T qe W et B 9T o 3

aauvﬂﬂimﬂw | S T ¢ 5 frw o frest § § #w @ Pifva = @ i s A
%ﬁmfmt; j ) P

A !

(i) wm LG e e
(ii) E'fl‘l o, Aww ¥ @ @1
f"ﬁl'ﬁ x_/ ﬁaﬁ
| G _-':'B{ﬂ ﬂ'ﬁﬁ Tt
I: 3o fFad, saw ¥ | -
(A) ¥ Fropd 1 P & |
(B) aw Frepd 1 Prwr ¥
- (C) Frepd 1w I ST P €1
@) & # Pred 17 8 11 P &
84 Whil:h one of the following is not an argument ?
(A} If toda}' is Tuesday, tomorrow will be Wednesday.
@ Sinc:e today is Tuesday, tomorrow will be Wednesday.
(C) Ram is not at home, so he must have gone to town.
(D) Ram insulted me so [ punched him in the ear. -~

mgﬁﬂﬁﬁﬁaﬁwﬁigﬁawﬁ%?

(A) qﬁ{ﬂ'ﬁﬂ"l‘lﬁ'ﬂr{% Fﬁﬁfwml

(B) memthM|

(C) mﬂ:{’ﬂﬂ-ﬁ% THifeg & gT & T B

) m%,;gilmﬂﬁﬂﬁwm AT &9 99% &9 9T Tuen e

17 [PT.O.

Visit : www.SmartTypingSolution.com for IA Typing Exam Software




s

Visit : www.SmartTypingSolution.com for IA Typing Exam Software

85

86

87

36]

Visit =

In the given diagram circle represent police officer, square represent strong mﬁ'];
represent tall men, Which region represent pollice officer who are strong but not

;‘qﬁ“;?::ﬁ?gﬁn sl 1 el FTa ¥, T AR o B et
: HT Va9 w ¥ FT WA STy St R s & .
T T Y, B el e &7 e 'S

A Nt
@) 1. @2 c 3 (D) 4

: :
'.nz:if::s 5;:11115 X,Y,Z,P,Q,Rand S are sitting around a circular table facing the centre byt
v the same order. Q is fourth to the left of Y. P is third to the right of X

1 € immediate right of X. Z is fourth to the right of R. R is not an immediate
nmghbolur of P. Who is second to the left of S 7
T =T X.Y,I&P.Q.Rm_sqaiwmﬂﬁﬁaﬁaﬁ?gwmw&aﬁr&%
g s T RS E At 1 Q, v B A ot @ e & | P. X & arft &t & Sy

%lY,X%ifﬂiﬂﬁi@h%lz,R%mm# [ E
AR el i Ia'tmiflR,Paﬂé‘mqs“lﬁwﬁ%;

@) o @ K 7 © X D) Y

H is richer than J; L -Q TG
M is richer than P; 9 / :a\' @
L is as rich as J; ., \
A is richer than H. \?# R .. ’_f,' /
What conclusion can be definitely drawn from the above statements 7™ ;
(A) 1 is more poorer than P B) M is richer than A A
(C) P is richer than L Lispoorermanﬂ
H, & ot &
M, P& it & COR
L, J foram & anfiT ¥ . £ ®
AHA sdT ¥ |

wol & Fifea w9 ¥ Fraffe Rea o w97 am ffg & -
(A) J, P& st Tla & (B) M;A¥ o< §
() PLERE (D) L,HA 7y &

& 18 [PTO. |
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Vegetables, Pntam= Cabbage
A.B, C3a DH ¥ afyg ;E:r
afeal, T, wEming

(A)

O

(C) } .{?'“ '

% D) L

89 Ifa I‘ecta_'i!gla were called a circle,

, a circle a point, a point a triangle and a triangle a square,
the shape of a wheel is " o e

(A) Rectangle (B) Circle (C) Triangle @ Point
“ﬁmﬁﬁﬁﬂmﬁﬁ,iﬁaﬁﬁg,&gaﬁﬁqﬁamﬁgmaﬁ HET T Tl = B
AT B - 3 A

(A) @ (B) T ©) P (D) Tog O

90 A statement is followed by two assumptions 1 and IL Consider the statement and decide
which of the .given assumptions is implicit. :
Statement : We should use Khadi clothes.

Assumption : |
1: Khadi clothes are not harmful for health.

1l - Khadi clothes are cheaper than other clothes.
(A) Only assumption I is implicit.

(B) Only assumption 1 is implicit.

@ Both assumptions I and Il are implicit,

Neither assumption I nor Il is implicit. :
Qﬁﬁﬂﬂﬂi@rﬁﬂtwﬁlﬁmuﬁﬂwi|mmvmﬁmmmﬁﬁm
i fHfeq & |
o ¢ B @R FE W I w9 |
[ mﬁrmm%ﬁmmwﬁh
. ae o e q wen :
(A) e qEgE 1 R ® - - |
@) T T et
o e [ ud T APl E

19 [PTO,
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91  Four friends are sitting in a square. C is right to B and A is left to B. Who is right .3.:.3"
At wm A 43 ¥ B & e ¢ o BF A A ¥ C & A B &7
(A) B D c A (D) C

92 Choose the correct mirror image of figure F from amongst the given four alternatives figure
(A), (B), (C) and (D),

o g A Asf anghr (A), (B), (C}am(ﬂ}ﬂﬁmF*Fﬂwmﬂ

f

4] [APPB]

Figure F / amgfy F (A) ® ©

93 A question and two statements numbered 1 and II are given below it. You have to decide
whether the data provided in the statements are sufficient to answer the question. 8

How many sons does X have 7

Statement :

I: E and W are only two brothers of P.

Il : P is the only daughter of Q and X.

(A) Only statement I is sufficient.

(B) Only statement II is sufficient.

(C) Both statements [ and 11 are necessary.
Both statements T and I are not sufficient.
T Y qo & a1 aur I 5696 A g g ¥ mwuﬁwaumtﬁsmﬁﬁq
o yad We W el 3 & g v ¥

XE R grd ?

I '.'pﬁ'a;qﬂﬂq’[fEHﬂIth

IM: Q@ X # awbel P P& | :
(A) FEw HOT [ @ b |

B) Faw T 1 Tt |

© 2 wad 1 [ T & |

(D) 2 waw 1 @ I vara @8 &

L -~ .36] ki 20 [PT.O.
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94 The memory Mmanagery

in memory ; et scheme that allows the processes to be stored non-contiguously
(A) Spooling
':-B) SWEpping Pagi A
& Y v aging (D) Relocation
A [Gﬁﬁfﬁ?fﬂﬁﬁlﬁﬁt—mm%ﬁmmﬁﬁwﬁfﬁh
®) =t (C) afim (D) TrEheH

95

word right -

at the end of line
(C)  Move the cursor at the

(B) Move the cursor
end of document
(D) Move the cursor one paragraph down
Cirl + right arrow f5w wm § sy & 7
(A) T B & = 2§ o B R
(B) =T & W ¥ ofw ¥ & o ¥ R
© =W H I ¥ oimd & oy 5 *m
(D) @7 F TH wmE A & W F Pro

96  Auto correct was originally designed to replace

Words as you type.

(A) short, repetitive . . (B) grammatically incorrect
misspelled ; (D) duplicate .

e qaed ¥ e o= 9 s & foe e mnoan ¢ e

(A) B, TR dH oA (B) =G B9 ¥ TEA

(C) T T (D) &

97  Which feature of word enables a person to send same letters to different persons 7

(A) Macros Mail Merge (C) Template (D) Thesaurus

=% & 2 T gAY TF A F S-S W F e u e w7

(A) FHE (B) et w (©) TRz (D) drarca ()
98 I‘We cannot hidea _ in MS Excel. |

(A) Row (B) Column (C) Sheet Range

MS Excel ¥ ® T (ww®) T WA |

&) W G ®) () i (D) ™
|

: ! P.T.0,
3] ’ | Fﬁ 21 | [

|
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most appropriate to plot the ups aadig

| : 1 of the following chart types will be the MOS0 oo o .

| ” ;Elli::k thi ng;:sr;bn!' the stock market on 2 dm]ljine é;m (D) Pie

A) Column Chart (B) Row Chart P e
:ﬁlﬁﬁfﬁw:ﬁl%(ﬂli]%mﬁﬁiﬁﬁﬁﬁ“ﬂﬂé
mamﬁaﬁrﬂﬁ#%maﬂﬁﬁ? o o) el

(A) wiem e (B) = ©

cell C5, and the cell BS at diff

god In 1 5 will have the followi

100 If the formula = If (B5 > 100, 'A’, 'A*") is ente peses] C

instances contains the values 75, 150 and 100,

respectively. _ e BS # ST S 'H‘T\‘I
g3 = If (B5 > 100, ‘A, 'A*'}mﬂﬁﬁﬂw%ﬁ e gautl g

150 9 100 3@ wir &, < &w C5 ¥ &AL e avi8
ALAAY - (B) AA%A ) A% A A. D) A ’A.}{i

: on 7
101 Which of the following is not a part of glide design £ S
(A) Colour scheme (B) NEIE

- ut
(C) Design template | Slide Layo
Eﬁﬁmmwmﬁ_mmqﬂt ¢

e

(A) 1 g g ®) TR
(C) T Tere . (D) wES I
102 Objects on the slide that hold text are called :
Placeholders - (B) Auto layout
(C) Textholders (D) Objectholders
: mm&aﬁﬁﬂﬁi‘liﬁmﬂﬁ,ﬁm%
| (A) wrErsd (Placcholders) (B) @& WIS (Auto layour)

©) Tewdred (Textolder) (D) offewwdiws (Objectholders)

103 Transition effects are applied to

(A) Text @ Slides
(C) Images ' ) Any object on slide
(&) & (B) wEs g,
(C) T (D) @z % fedr sifaeree
104 In MS Access images can be set o o i
(A) ILDEIE- @ Ole (C) Hyperlink D)
MS Access ¥ o (B1ed) &t ______-h,m:q (wr7) 7T B2 wm
() ®) s © whvhm () W

35]" 29
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105 The basic elements of 4

form ;
(A) objects €% alled ;

(C) record (B) table
ﬁﬁlﬁ%wam T § - cﬁntmls
(A) wisiy (objects)

© T (eeong (B) & (table)

(D) F=RH (controls)

: .
0 make a database password protected in MS Access :

TTOH T *Wﬂwm%MWﬂ& ?
(A) Insert — Security _, g, ' g
(B) Tools

(C) View

106

1 database password
—» Security — Set database password
— Security — Set database password
@ Data — Security — Set database password

107 The devices used to obtai
form respectively are,
Scanner and Printer
(C) Plotter and Printer

0 a printed matter into digital form, and digital matter into printed

——
(B) Printer and Scanner
(D) Printer and Plotter

ﬁﬁﬁﬁﬁqﬁam%mﬁﬁmmﬁam&ﬁaﬁ%ﬁm '
: THE B
& forg wga sww maa: ¥ . ks

(&) BT T R ®) fr 7w
(C) wier 7 fimx (D) for=T 3 Wiz

108 The electric pulse generated by system clock is called as
(A) Click Cyele (C) Tick (D) Hertz
0 faew (omh) = w3 se fge (zdfes) T () & wer v -
(A) Fs (B) wHEwa € = (D) w&=

109 An Industry Standard designed to standardize the commection of computer
computers, both to communicate and to supply clectric power is,

(A) IEEE Standard (B) AscIH

USB . (D)) Peripheral standards

W#qﬁﬁamﬂmﬂiﬁﬂmﬁnﬁﬁmmm*ﬁﬂﬂﬁgﬂﬂﬁﬂ
#1 oy F fore sl e ey oem ¥

periphérals to

(A) IEEE 9F® (standard) (B) ASCI
(C) USB (D) UHTH W (standards)
6] 4 23 [PT.O,
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110 How many symbols does the hexadecimal system use ?

ezt (e WO Py vl (Rige) B ST W ¥
(A) 6 (B) 10 @ 16 (D) 60

111 To convert a decimal number into octal, we do :
divide decimal number with 8 (B) multiple decimal number with § =

(C) divide decimal number with 16 (D) multiple decimal number with 16
T T B s A oiaRis s B g, o F § '
(A) ¥ T # g () AR T S
(C) e T ¥ 16 =y W @ 3w T 16 % T

112 The hexadecimal subtraction of (1056),5 from (A427);4 results in
(Ad27),6 % A (1056),, ¥earefeme wafey @ el | SO
(A) (A3Bl),4 B) (9331)5 (C) (3711)6 (93D1)6 4

113 The term gigabyte refers to : _ T
(A) 1024 byte (B) 1024 kilobyte (C) 1024 hexabyte (D) 1024 mega
ArmEse % qEt o ¥

(A) 1024 T22 B) 1024 Freamz  (C) 1024 =z ' 1024 g

114 Processed data is known as :

(A) Facts (B) Records @ Information (D) Data
waifa ¥ e e - '

(A) azw . B s (©) T @) ¥=

115 2's complement of (1000); is
(1000), % 2 & T &

@A) 0001 . (B o101 © om @
116 Software agents are also known as :

(A) Transagents B) Knowbos

)" B Softbots

(A) Zigee [Trfnsasems} ®) o i

(c) =horEd (Blizzards) ) iy‘ﬁ'zﬂ g
36] 4 2

Jé;'" _f
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V7Y v e
s
{17 The missing number in the series : ¢ </ E}’Cﬁ}
prefia gaw A Rga wem w b @ G
0 6. 241 ﬁﬂi lzﬂl 1, 336 “"Lﬁ ¥ ~ EEU
210 & (B) 220 (C) 240 (D)
(&) 20

’ 4".
WA ribitary #Ng @N4 %N
118 In a certain code language "Great solution turn plan" is writien &T5 @
Then "Tamilnadu" written in that code ) N
% @ §Z W § "Great solution tum plan” B "&T5 #Ng @N4 %N4" feram ST

=l 2 W ¥ "Tamilnadu® & frar smqm _ o
(A) #ud (B) &T9 @ @u9 D) @

119 Choose the correct number for the giw:n'seriﬁ a2
gt & for wét =T B g AR
30, 90, 182, 306, 462, ? r - *r.pﬂ-’

650 (B) 678 (©) 615 D) 580 L«

' 3
120 How many parallelograms are there in the following figure 7 LW
P oy A fea o TgEE 7 g%

Y ko \?"—l} Sfj’ ;P Kot I%ﬁ}"/y e
\:‘ e \ ""’\ \ S B P << \?’“’ ,
i W O T W N

(€ 30 {m) 60 £
(A) 12 (B) 24 e
121 Which folk drama of Rajasthan is called "Meru Natya" ? o
(A) Bhawai - (B) Khayal @ Gavari (D) Tamasha
T F AR EE e CEe e FAN Y TAT AL P
(A) W (B) A (€) T (D) T
122 According to recent announcements, new free of cost facility provided to heart patients in
/ Rajasthan is - .
Angiography (B) Heart Transplant
(C) Chamber cleaning (D) Artery Replacement
e € % & 7wl F oTgEn seadfrll & g Fe-d v Prges gl @ arew e
Tk 7
(A) OfEET ®) =a v © -
(C) wu®H T D) woh vargmw
6,
%] @ 25 ' [PTO.

.
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123 Which pair among the following is incorrectly matched 7

Prajamandal Founder
(A) Sirohi Gokul bhai Bhatt
(B) Karouli _ Trilokchand Mathur
(C) Jaisalmer Meethalal Vyas
(D) Alwar Ladaram Vyas
frffes & & B g wd gifee w8 37
WATHISH : HEIE
(A) fatrdr e WE WE
(B) =it s P wgT
(C) Sy ! HraTee =T
124 Which of the following sector is related to Meera Puraskar ? '
((A)) Literature (B) Singing (C) Painting (D) Handicraft
T W & B &R i qee @ el 7

(A) wift (B) T (C) famor (D) Tl

125 Where every year the sni_i_ﬁ"hre rejuvenated naturally, the .region is known as -
(A) Bhabar region (B)" Tarai region (C) Bangar region (D) Khadar region I
Wil wited wphs v § Rl @ e g, qw dw d - |
(A) WTET wRer B) T wiw (C) =TT Ay BT W9

126 ‘Hoorda Conference’ was organized in which year 7
(A) 1732 AD. (B) 1733 AD. 1734 AD. (D) 1735 A.D.
wve gee @ o fra ¥ & few ol fem w2

(A) 1732 §& (B) 1733 &= (C) 1734 & D) 1735 =

127 Incised cut ear and ‘Jata’ are identification mark of which of the following 7.

(A) Gusjar Oghar Jogi (C) Rawal Jogi (D) Meena
(A) T (B) ol i (C) =@ i (D)

128 From 1%t Jan., 2018 what will be the new loan interest rate for farmers, charged by
co-operative land development banks ? .

o sl 2018 & TEETH s Rewr ¥ T et & aaeh o e o o s A
wmE? - ]
(A) 6.5% B) 6.7% @ 5.5% D) 5.7%

6] 4 o8 [ PT.O. L
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129 In Rajasthan, for WPI wh
» Which year is taken as th
Wﬂwﬂ*f@ﬂ e base year 7
DI
(A) 1999-2000 ™ P st e e 7

(B) 1995-1996 (©)) 2004-2005 (D) 2008-2009

130 Kachnar Choudha.ry is associated

Shot Put With which of the following games ?
— vk < (B) Badminton (C) Swimming ) 16 4 i °
T RmAm gy 2

(A) giie

- ®) Sl (C) =t (D) 100 #. &=

131 Which
i CT:;; of the following is called "Hindu Olympus" by Col. James Todd ?
: Mmﬁh (B) Plateau of Uparmal

?Fﬁ‘ﬁ Fryg ! (D) North-Western desert

o= q = aieram sl @ 7
A) TEmw i
g ] (B) T &1 9T |1
(©) vz sy

(D) m—_qﬁaﬁmﬁ

132 Pi.‘.l'.‘.palpa]ma is -
(A) Women's head ornament

Women's ear ormament i
(C) Women's neck ornament

(D) Women's waist jewelry

i“E“"t_ ; . 2,
(A) Pl % R wr sy ®) fordi % @ w7 s S
©) Reat & T w1 s D) fedi & @ w1 s

p

133 When was the Rajasthan State Road Transport Corporation established 2
T o9 vg giEes Fem @ o 5= 7

(A) 1979 1964 ©) 191 © 1971

134 Which of the following district is not directly related to *Mahi
pure potable water 7

(A) Rajsamand  ((B)) Chittorgath  (C) Udaipur (D) Dungapur
Frer & & erer foren ‘et w1 S S T Yoo v ¥ weas v & WA T 7
(A) TERR (B) friEm. (©€) =R (D) YT

high level canal project’ for

135 According to new budget, what is the GST rate for slabs am:l tiles in Rajasthan ?
@zﬁmmﬁmwmﬁmﬁmmﬂa&mmt ?
18% (B) 20% (C) 28% (D) 32%

6] 4p : 27 ' [PTO,
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136 A question and two statements | and Il are given below it. You have to decide whether the
data provided in the statements are sufficient to answer the guestion.

What will be the result of Priva's Secondary Board Examination this vear ?
Statement :

[ : This year Secondary Board Examination question papers were very easy.

II: Almost all the students appeared in the Secondary Board Examination succeed.
(A) Only statement I is sufficient.

(B) Only statement 1 is sufficient.

(C) Both statements I and II are necessary.
Both statements I and IT are not sufficient.

T W A A FY 79& A o mw ¥ | ot 78 79w ¥ B s ¥ R o v
AT W S &4 & fo oo &

T a6 Ty & arafs 9 ghen w1 ofom 7@ @ ?

FYA

[: 79 79 "nafs 9% ofe % v o9 agg a0 9 |

11: =reafin &1 wier ¥ aftufed 4% oftreier el st g |

(A) Heaw g9 1 ggia ¢ |

(B) waw %g7 Il warq & |

-

(C) =t waw 1 Tar 1l smayas & | 'E”g“*.;,/,
(D) = wa 1 qar 1 vata =8 & | *"‘BQL},‘
ey L
t"'qﬁ?
137 The angle subtended by sector related to military at the centre is - )
; 2T+
¥ | Wt @vs F &= 9T saha w2 d A
2 s Ah
?;;B‘I’E { g "'jr,/"
Veteran / ¥aTEn 6% A %
Mllﬁlﬁ“ ;h Interest on Debt / =M= 9% “q\. %
B g International / ar=rtisig 9% o /
; O
&) 2102° (®) 2124° (©€) 214.6° D) 218.9°
g

138 @wmbﬂsmn 100 and 300 begin or end with 2 ?
I@ﬂgmtﬁﬂﬁmﬁMZ#mmmmﬁﬁt ?

4A) 100 110 © 120 D) 140
1 @ 28
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139 In which vear was Kanijj Bom ?
() Kartik is 6 years older fhg,
(ii) Mayurs brother w;boh:iﬁag}:rz' "
(i) Kartik's brother ; , )
then Maypg €115 2 years younger than Mayur's brother, who was eight years younger
H
oW m‘;r";: ;::"’eﬂm enough to find out the birth year of Kartik ? « B
*":"iﬂi 3 7 9% g wA % g R ¥ @ P ?
(1) Eﬁﬁﬂt%ﬁﬁmt| e W wata ¥ 7
{f_l?. I BT W 1982 ¥ vy ap
E:l; :;ﬁwmﬁmtwazﬁmt. W 5 T & s e ¥
(B) (i), (i) (©) (i), (i) - @ (i), (ii), (iii) \

149 ;ge‘_gr:m figure ﬁhﬂ“'slthe food liking of 1080 people of a city.
i & o st % 1080 Vil % @rt @ wa= w297y Ty &

Idii L 28
Bl e¥r9% gy : \b - L
=N\t * pfnd" e
455\ 907 o . PR A

F}ﬂ%‘“ C_etllgupaﬂes

The percent of the people who like Idli is A B Sc-_Lé 5:-.2*‘—
T W geR wEE F ¥ o v § - | e ‘5%@5‘
12.5% ®) 12.0% © 15% © 1052
141 If 6™ February 2018 fall on Tuesday then what will be the day on 6" February 2020 7
(A) Monday (B) Tuesday (C) Wednesday (D) Thusday
afe 6 weadr 2018 # AT ¥ A 6 HEEdt 2020 B Wy Wy Ry B 2
(A) dhEm (B) et ©) Fwaw TeaTt

142 In the given ﬁgurc going from A to B only on the 1j .
in how many ways can reach ? X ines and taking the least length of path,

7
A | N =
[ | ) 1
- i B
I B e
6] 4 | 29 [PT.O.
(- '
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in English, Histo 3,
143 1000 candidates appeared in an examination comprising 1€sts 2 ry ﬂlld

The Venn diagram gives the number of candidate who :l'!'ﬂd in different tests,
percentage of candidates who failed in any two subjec -'l
atireht, sfvers qen R Bt e wien 1000 Wﬂmﬁaﬁﬂiiﬂﬂ T | STTT-gemy
ﬁmuﬁmﬁ:ﬁraﬁmzﬁmmmﬁhw Perodf ST Themr

wig e & 7 h
P "\.&' l't" s ||'r \.’J:, o : I
)
e / xn?/f%
E%g;‘s" é History : o
6@ zferers Nia : .
y 52 e
A i B
3|‘ ‘ T{
Science
s
(A)' 0.9% @ 9% (C) 0.09% (D) 9%

| 144 A commitice of three ;}emm is to be formed out of seven persons A, B, C, D, E ] -?;
/ according to the following conditions.

(i) Either A or C or both must be chosen
-(ii) If A or B is chosen, the other must also be chosen.

(iii) C and D can't be chosen together
If D is chosen, which of the following could also be chosen 7

S Sfveh 3 st e R A, B, C,D, E, Fﬂmﬁﬁﬁﬁﬁmﬁaﬁfﬁ

&1 Fmfor ST ¥ |

(i) Amcmwﬁmmmmm%|

(ii) uﬂ{AﬂrBﬁrWﬁﬂr%?ﬁWﬂﬂiﬂﬂmwm%q

(iii) C @ar D & UH a1 999 A6 o g ¥ |

.uﬁnmmﬁmw%ﬁﬁﬂﬁﬁ@tmwfﬁmmmi?“ !

E,F (B) C.E €) A, G (D}JLB_
d < ] = .J

145 From the given words, select the wnrd mhmh can not be formed using ﬂ“

given word : .

ﬁﬂﬁmwﬁﬁﬂmﬁﬁqﬁﬁﬁﬁw%mﬁwmﬁﬁ _

T T -

TOKENISM s

(A) STONE (B) NOISE (C) EMITS @-N Al
| 6] 4p 30 i
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146 A is 5 ranks ahead of B in g cla
what is A's rank from the gy 7

B W T T AR YT BY S o ¥ | R B Y o w & 1241 & A o

ss of 46 students. If B's rank is twelth from the last,

¥ AD & 7 ?
(A) 28 B) 29 @ 30 D) 31 o
- Z
" ;Il::c’tj: 5';“0113 ofa dice are shown below. What will be the_ number at the bottom if 5 is at

1

% T 3 Rt e i Iﬁmﬁﬁ%ﬁﬂﬁmm ?

" " . &
148 If "INDIA" is coded as "KQIPK" in a code language. How is "JAPAN" written in that code?

T% B2 T A INDIA" B "KQIPK" foram o &1 3 5z a1 & "JAPAN" 2 fora ST

\
(A) LCRCP LDUHX (©) LDIFT (D) LDUFT
149 l::.:inﬁl;g 10 an old man, Vijay said, "His son is my son's Uncle". How is old man related to
jay

(A) Brother (B) Uncle @ Father

T & BT A 39 FE B P § ww B Cowmr
foora & % et & 7

(A) wE (B) =mar (C) If?m'[ LY (D) @

j (D) Grand Father
T 9 & A ¥ wwneh s

y b
150 Find the missing number from the given option : ‘y'}\ 3 r'—
iy

fer T el ¥ ¥ g@ wEm T @ S -

™ > ﬂf",—v

‘ z ﬁa‘;d\ }#_ qu{? 1 ay
4 g N R 4> 7
ol W 5 | \

b"
L['
b "
: v ik
& y . i ;p S
\Ji /
\ _

o
36] ’ 31 | I [PT.O. ‘

h—. L Bri®a
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